2RXS J121506.0+874154

gamm*meka

0010

930101

T

[T T

TR N R [ TVR A B N [T R W O B 11T R B A
R
o o o o
i i i i

(A93 s zwd)/suojoyd

(A®¥ s)/syuno)

T T 1 AL AL [TTTTTT
- S — —
[ — ]
u AN N
TR ITIEE ITIEE ITERE:

7 ¢ ?

o o (@)

L | ] —

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

N N o«
S5 3
25 TR 2 R
N S W
N 9 Q
©® M -
T I
+ + o+

- N M =

5783853

25 I 5 I N S N |

n O o <+ ©

N ¥ o = u

- O = N o

Il

o I

—

© — 1

s >

o

e x ' x E

g 2 = o

n L Z2 = 2Z

LI I D I B I

T

s[enpisay

1.00

0.10

10

er‘ed = 1.14

Energy/keV



